

FUZZY IDEALS AND WEAK IDEALS IN BE – ALGEBRA

R DHIVYA, G MUNEE SWARI, R SRIMATHI
Assistant Professor,
Department of Mathematics,
Thassim Beevi Abdul Kader College for Women,
Kilakarai.

ABSTRACT In this paper, we use the notion of fuzzy point to study some basic algebraic structures such as BE – algebras and ideals. Then we clarify the links between the fuzzy point approach and the classical fuzzy approach.

KEY WORDS Fuzzy algebra, Sub algebra, BE algebra, Weak ideal, Commutative ideal.

INTRODUCTION

In [4,7] some transfer theorems for fuzzy groups and fuzzy semigroups were established. In this paper, we apply those results to BE – algebras. The concept of fuzzy sets was introduced by Zadeh [9]. This concept has been applied to BE – algebras by Xi [8]. In this paper, given a BE – algebra $(X, *, 1)$ and a fuzzy subset A on X , we construct the set $(\tilde{X}, *)$ of all fuzzy points on X and the subset \tilde{A} of \tilde{X} . Then we establish and similarities between some properties of A and \tilde{A} .

PRELIMINARIES

An algebra $(X, *, 1)$ of type $(2,0)$ is called a BE- algebra if for all x, y and z in X

1. $x * x = 1$
2. $x * 1 = 1$
3. $1 * x = x$
4. $x * (y * z) = y * (x * z)$

In X , a binary relation “ \leq ” is defined by $x \leq y$ if and only if $x * y = 1$.

The following properties also hold in BE algebra.

1. $x * y = 1$ and $y * x = 1$ imply $x = y$
2. $x * y = 1$ and $y * z = 1$ imply $x * z = 1$
3. $x * y = 1$ implies $(x * z) * (y * z) = 1$ and $(z * y) * (z * x) = 1$
4. $(x * y) * z = (x * z) * y$
5. $(x * y) * x = 1$
6. $x * (x * (x * y)) = x * y$
7. $(x * y) * z = 1$ implies $(x * z) * y = 1$
8. $[(x * y) * (y * z)] * (x * y) = 1$
9. $[((x * z) * z) * (y * z)] * [(x * y) * z] = 1$
10. $(x * z) * (x * (x * z)) = (x * z) * z$
11. $[x * (y * (y * x)) * (y * (x * (y * (y * x))))] * (x * y) = 1$

$$12. ((x * y) * (x * z)) * (z * y) = 1$$

$$13. (x * (x * y)) * y = 1$$

ALGEBRAIC STRUCTURE OF THE SET OF FUZZY POINTS IN BE ALGEBRAS

Let $(X, *, 1)$ be a BE algebra. A fuzzy set A in X is a map $A: X \rightarrow [0,1]$. If ξ is the family of all fuzzy sets in X , $x_\lambda \in \xi$ is a fuzzy point if and only if $x_\lambda(y) = \lambda$ when $x = y$; and $x_\lambda(y) = 1$ when $x \neq y$. We denote by $\tilde{X} = \{x_\lambda | x \in X, \lambda \in (0,1]\}$ the set of all fuzzy points on X and define a binary operation on \tilde{X} as follows:

$$x_\lambda * y_\mu = (x * y)_{\min(\lambda, \mu)}.$$

It is easy to verify that $(\tilde{X}, *)$ satisfies the following conditions: for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$

$$\text{BE (1')} \quad (x_\lambda * x_\lambda) = 1_\lambda$$

$$\text{BE (2')} \quad x_\lambda * 1_\mu = 1_{\min\{\lambda, \mu\}}$$

$$\text{BE (3')} \quad 1_\lambda * x_\mu = x_{\min\{\lambda, \mu\}}$$

$$\text{BE (4')} \quad x_\lambda * (y_\mu * z_\alpha) = y_\mu * (x_\lambda * z_\alpha)$$

We can also establish the following conditions for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$

$$(1') \quad x_\lambda * y_\mu = 1_{\min\{\lambda, \mu\}} \quad \text{and} \quad y_\mu * z_\alpha = 1_{\min\{\mu, \alpha\}} \quad \text{imply} \quad x_\lambda * z_\alpha = 1_{\min\{\lambda, \alpha\}}$$

$$(2') \quad x_\lambda * y_\mu = 1_{\min\{\lambda, \mu\}} \quad \text{implies} \quad (x_\lambda * z_\alpha) * (y_\mu * z_\alpha) = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$\text{and} \quad (z_\alpha * y_\mu) * (z_\alpha * x_\lambda) = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$(3') \quad (x_\lambda * y_\mu) * z_\alpha = (x_\lambda * z_\alpha) * y_\mu$$

$$(4') \quad (x_\lambda * y_\mu) * x_\lambda = 1_{\min\{\lambda, \mu\}}$$

$$(5') \quad x_\lambda * (x_\lambda * (x_\lambda * y_\mu)) = (x_\lambda * y_\mu)$$

$$(6') \quad (x_\lambda * y_\mu) * z_\alpha = 1_{\min\{\lambda, \mu, \alpha\}} \quad \text{implies} \quad (x_\lambda * z_\alpha) * y_\mu = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$(7') \quad [(x_\lambda * y_\mu) * (y_\mu * z_\alpha)] * (x_\lambda * y_\mu) = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$(8') \quad [((x_\lambda * z_\alpha) * z_\alpha) * (y_\mu * z_\alpha)] * [(x_\lambda * y_\mu) * z_\alpha] = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$(9') \quad (x_\lambda * z_\alpha) * (x_\lambda * (x_\lambda * z_\alpha)) = (x_\lambda * z_\alpha) * z_\alpha$$

$$(10') \quad \{[x_\lambda * (y_\mu * (y_\mu * x_\lambda))]\} * [y_\mu * (x_\lambda * (y_\mu * (y_\mu * x_\lambda)))] * x_\lambda * y_\mu = 1_{\min\{\lambda, \mu\}}$$

$$(11') \quad ((x_\lambda * y_\mu) * (x_\lambda * z_\alpha)) * (z_\alpha * y_\mu) = 1_{\min\{\lambda, \mu, \alpha\}}$$

$$(12') \quad (x_\lambda * (x_\lambda * y_\mu)) * y_\mu = 1_{\min\{\lambda, \mu\}}$$

We also recall that: if A is a fuzzy subset of a BE – algebra X , then we have the following:

$\tilde{A} = \{x_\lambda \in \tilde{X} \mid A(x) \geq \lambda, \lambda \in (0,1]\}$, and for any, $\lambda \in (0,1]$ $\tilde{X}_\lambda = \{x_\lambda \mid x \in X\}$, and $\tilde{A}_\lambda = \{x_\lambda \in \tilde{X} \mid A(x) \geq \lambda\}$. Hence $\tilde{X}_\lambda \subseteq \tilde{X}$, $\tilde{A} \subseteq \tilde{X}$, $\tilde{A}_\lambda \subseteq \tilde{A}$, $\tilde{A}_\lambda \subseteq \tilde{X}_\lambda$.

1.WEAK IDEAL

Definition 1.1

A non-empty subset I of BE – algebra X is called an ideal if it satisfies

1. $1 \in I$
2. $x * y \in I$ and $y \in I$ imply $x \in I$.

Definition 1.2

A fuzzy subset A of a BE – algebra X is a fuzzy subalgebra if and only if for any $x, y \in X$, $A(x * y) \geq \min(A(x), A(y))$.

Definition 1.3

\tilde{A} is a subalgebra of \tilde{X} if and only if for any $x_\lambda, y_\mu \in \tilde{A}$ we have $x_\lambda, y_\mu \in \tilde{A}$.

Theorem 1.1

Let A be a fuzzy subset of a BE – algebra X . Then the following conditions are equivalent:

- 1) A is a fuzzy subalgebra of X .
- 2) For any $\lambda \in (0,1]$, \tilde{A}_λ is a subalgebra of \tilde{X} .
- 3) For any $t \in (0,1]$, the t -level subset $A^t = \{x \in X \mid A(x) \geq t\}$ is a subalgebra of X when $A^t \neq \emptyset$.
- 4) \tilde{A} is a subalgebra of \tilde{X} .

Proof:

1) \implies 2) Let $x_\lambda, y_\mu \in \tilde{A}_\lambda$. Since A is a fuzzy subalgebra, $A(x * y) \geq \min(A(x), A(y)) \geq \lambda$, then $x_\lambda * y_\mu = (x * y)_\lambda \in \tilde{A}_\lambda$.

2) \implies 3) Let $x, y \in A^t$. \tilde{A}_t is a subalgebra, so we have $(x * y)_t = x_t * y_t \in \tilde{A}_t$.

Hence $x * y \in A^t$.

3) \implies 4) Let $x_\lambda, y_\mu \in \tilde{A}$ and $t = \min(\lambda, \mu)$. Then $A(x) \geq \lambda \geq t$ and $A(y) \geq \mu \geq t$, so $x, y \in A^t$. Since A^t is a subalgebra, $x * y \in A^t$ so that $x_\lambda * y_\mu = (x * y)_t \in \tilde{A}$.

4) \implies 1) Let $x, y \in X$ and $t = \min(A(x), A(y))$. Then $x_t, y_t \in \tilde{A}$. Because \tilde{A} is a subalgebra, so we have $(x * y)_t = x_t * y_t \in \tilde{A}$, hence $A(x * y) \geq t = \min(A(x), A(y))$.

Definition 1.4

A fuzzy subset A of a BE – algebra X is a fuzzy ideal if and only if :

- a) for any $x \in X$, $A(1) \geq A(x)$
- b) for any $x, y \in X$, $A(x) \geq \min(A(x * y), A(y))$.

Definition 1.5

\tilde{A} is a weak ideal of \tilde{X} if and only if

- a) for any $v \in Im(A)$, $1_v \in \tilde{A}$,
- b) for any $x_\lambda, y_\mu \in \tilde{X}$ such that $x_\lambda * y_\mu \in \tilde{A}$ and $y_\mu \in \tilde{A}$, $x_{\min(\lambda, \mu)} \in \tilde{A}$ holds.

Remark 1.1: Any weak ideal \tilde{A} has the following property: $x_\lambda * y_\mu = 1_{\min\{\lambda, \mu\}}$ and $y_\mu \in \tilde{A}$ imply $x_{\min\{\lambda, \mu\}} \in \tilde{A}$. Clearly, let $x_\lambda, y_\mu \in \tilde{X}$ such that $x_\lambda * y_\mu = 1_{\min\{\lambda, \mu\}}$ and $y_\mu \in \tilde{A}$.

$y_\mu \in \tilde{A}$ implies that $A(y) \geq \mu$. Let $A(y) = \alpha$. Using definition 1.5(a) we obtain $1_\alpha \in \tilde{A}$. So

$A(1) \geq \alpha$. But $\alpha = A(y) \geq \mu \geq \min(\lambda, \mu)$. So $1_{\min\{\lambda, \mu\}} \in \tilde{A}$. Using definition 1.5 (b), we obtain $x_{\min\{\lambda, \mu\}} \in \tilde{A}$.

Now we discuss the relation between subalgebra and weak ideal. First of all, let us establish the following:

Lemma 1.1: If \tilde{A} is a subalgebra of \tilde{X} , then for any $\lambda \in Im(A)$ $1_\lambda \in \tilde{A}$.

Proof:

Let $\lambda \in Im(A)$ and take x in X such that $A(x) = \lambda$, then $x_\lambda \in \tilde{A}$. \tilde{A} is a subalgebra and BE (1') imply $(x_\lambda * x_\lambda) = 1_\lambda \in \tilde{A}$.

Corollary: If A is a fuzzy subalgebra then for any $x \in X$, $A(1) \geq A(x)$.

Lemma 1.2: Let A be a fuzzy subalgebra of X and $\lambda, \mu \in (0, 1]$ such that $\lambda \geq \mu$. Then

- a) If $x_\lambda \in \tilde{A}$, then $x_\mu \in \tilde{A}$,
- b) If $x_\lambda \in \tilde{A}$, then $1_\mu \in \tilde{A}$.

Proof:

- a) $x_\lambda \in \tilde{A}$ implies $A(x) \geq \lambda$. Since $\lambda \geq \mu$ we obtain $A(x) \geq \mu$. So $x_\mu \in \tilde{A}$.
- b) $x_\lambda \in \tilde{A}$ implies $A(x) \geq \lambda$. Since A is a fuzzy subalgebra, $A(1) \geq A(x) \geq \lambda \geq \mu$ and $1_\mu \in \tilde{A}$.

Theorem 1.2: Any weak ideal \tilde{A} is a subalgebra.

Proof:

Let $x_\lambda, y_\mu \in \tilde{A}$. $y_\mu \in \tilde{A}$ implies that $A(y) \geq \mu$. Let $A(y) = \alpha$. Using definition 1.5 (a), we obtain $1_\alpha \in \tilde{A}$ such that $A(1) \geq \alpha$. But $\alpha = A(y) \geq \mu \geq \min(\lambda, \mu)$. So $1_{\min\{\lambda, \mu\}} \in \tilde{A}$. BE (4'), $(x_\lambda * y_\mu) * x_\lambda = 1_{\min\{\lambda, \mu\}}$. Using definition 1.5 (b), we obtain $x_\lambda * y_\mu \in \tilde{A}$.

Theorem 1.3: Suppose that \tilde{A} is a subalgebra of \tilde{X} . Then the following conditions are equivalent:

- 1) A is a fuzzy ideal.
- 2) If $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ with y_μ and $z_\alpha \in \tilde{A}$, then $x_{\min\{\lambda, \mu, \alpha\}} \in \tilde{A}$
- 3) for any $t \in (0, 1]$, the t -level subset $A^t = \{x \in X | A(x) \geq t\}$ is an ideal when $A^t \neq \emptyset$.
- 4) If $x_\lambda, y_\mu \in \tilde{A}$ and $(z_\alpha * y_\mu) * x_\lambda = 1_{\min\{\lambda, \mu, \alpha\}}$, then $z_{\min\{\lambda, \mu, \alpha\}} \in \tilde{A}$.
- 5) for any x, y, z in X , the inequality $x * y \leq z$ implies $A(x) \geq \min(A(y), A(z))$.
- 6) \tilde{A} is a weak ideal.

Proof:

1) \Rightarrow 2) Let $z_\alpha, y_\mu \in \tilde{A}$ such that $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$. Since A is a fuzzy ideal, we have $A(x) \geq \min(A(x * y), A(y))$ and $A(x * y) \geq \min(A((x * y) * z), A(z))$. So $A(x) \geq \min(\lambda, \mu, \alpha)$. Hence $x_{\min\{\lambda, \mu, \alpha\}} \in \tilde{A}$.

2) \Rightarrow 3) a) Let $x \in A^t$. Then $A(x) \geq t$. Since A is a fuzzy subalgebra, $A(1) \geq A(x)$. So $A(1) \geq A(x) \geq t$, $1 \in A^t$.

b) Let x, y in X such that $x * y \in A^t$ and $y \in A^t$. $y \in A^t$ implies $A(y) \geq t$. Since A is a fuzzy subalgebra, $A(1) \geq A(y)$. So $A(1) \geq A(y) \geq t$, $1_t \in \tilde{A}$. $x * y \in A^t$ implies $A(x * y) \geq t$. So $(x * y)_t \in \tilde{A}$. Since $1_t \in \tilde{A}$ and $(x_t * y_t) * 1_t = (x * y)_t \in \tilde{A}$, using the hypothesis, we obtain $x_t \in \tilde{A}$, so $x \in A^t$.

3) \Rightarrow 4) If $x_\lambda, y_\mu \in \tilde{A}$ with $(z_\alpha * y_\mu) * x_\lambda = 1_{\min\{\lambda, \mu, \alpha\}}$, we have $(z * y) * x = 1$. Let $t = \min(\lambda, \mu, \alpha)$, since A^t is an ideal, $1 \in A^t$ and because $x, y \in A^t$ we obtain $z \in A^t$. So $z_t = z_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

4) \Rightarrow 5) Let x, y, z in X such that $x * y \leq z$ and $\mu = A(y), \alpha = A(z)$. Since $x * y \leq z$, we have $(x_{\min(\mu, \alpha)} * y_\mu) * z_\alpha = 1_{\min(\mu, \alpha)}$. Using the hypothesis, we obtain $x_{\min(\mu, \alpha)} \in \tilde{A}$. So $A(x) \geq \min(\mu, \alpha) = \min(A(y), A(z))$.

5) \Rightarrow 6) a) By lemma 1.1, it is clear that for any $v \in Im(A)$, $1_v \in \tilde{A}$.

b) for $x_\lambda, y_\mu \in \tilde{X}$ such that $x_\lambda * y_\mu \in \tilde{A}$ and $y_\mu \in \tilde{A}$. We have $A(x * y) \geq \min(\lambda, \mu)$ and $A(y) \geq \mu$. Since $x * (x * y) \leq y$, it follows from the hypothesis that $A(x) \geq \min(A(x * y), A(y)) \geq \min(\lambda, \mu)$, so that $x_{\min(\mu, \alpha)} \in \tilde{A}$.

6) \Rightarrow 1) a) By theorem 1.1 and the corollary, it is clear that for any x in X , $A(1) \geq A(x)$.

b) Let $x, y \in X$ and $t = \min(A(x * y), A(y))$. Then $x_t * y_t = (x * y)_t \in \tilde{A}$ and $y_t \in \tilde{A}$. Since \tilde{A} is a weak ideal, $x_t \in \tilde{A}$. So $A(x) \geq t = \min(A(x * y), A(y))$.

2.POSITIVE IMPLICATIVE WEAK IDEAL

Definition 2.1 A non empty subset I of X is called a positive implicative ideal if it satisfies:

a) $1 \in I$

b) for all $x, y, z \in X$, $(x * y) * z \in I$ and $y * z \in I$ implies $x * z \in I$.

Definition 2.2 A fuzzy subset A of a BE-algebra X is a fuzzy positive implicative ideal if and only if:

a) for any $x \in X$, $A(1) \geq A(x)$,

b) for any $x, y, z \in X$, $A(x * z) \geq \min(A((x * y) * z), A(y * z))$.

Definition 2.3 \tilde{A} is a positive implicative weak ideal of \tilde{X} if and only if:

a) For any $v \in IM(A)$, $1_v \in \tilde{A}$,

b) for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$ such that $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$, and $y_\mu * z_\alpha \in \tilde{A}$, we have $(x * z)_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

Theorem 2.1 If \tilde{A} is a weak ideal, then the following conditions are equivalent:

1) A is a fuzzy positive implicative ideal.

- 2) for all $x_\lambda, y_\mu \in \tilde{X}$, $(x_\lambda * y_\mu) * y_\mu \in \tilde{A}$ implies $x_\lambda * y_\mu \in \tilde{A}$
- 3) for any $t \in (0,1]$ the t-level subset $A^t = \{x \in X | A(x) \geq t\}$ is a positive implicative ideal when $A^t \neq \emptyset$.
- 4) for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$, $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ implies $(x_\lambda * z_\alpha) * (y_\mu * z_\alpha) \in \tilde{A}$.
- 5) for any $x, y, z \in X$, $A((x * z) * (y * z)) \geq A((x * y) * z)$.
- 6) \tilde{A} is a positive implicative weak ideal.

Lemma 2.1 Suppose that I is an ideal of a BE algebra X. Then the following conditions are equivalent

- i) I is positive implicative.
- ii) $(x * y) * y \in I$ implies $x * y \in I$.
- iii) $(x * y) * z \in I$ implies $(x * z) * (y * z) \in I$.

Proof. 1) \Rightarrow 2) Let $x_\lambda, y_\mu \in \tilde{X}$ and $(x_\lambda * y_\mu) * y_\mu \in \tilde{A}$. since A is fuzzy positive implicative,

$$A(x * y) \geq \min(A((x * y) * y), A(y * y)) \geq \min(A((x * y) * y), A(1)) \geq \min(\lambda, \mu).$$

$$\text{So } x_\lambda * y_\mu = (x * y)_{\min(\lambda, \mu)} \in \tilde{A}.$$

2) \Rightarrow 3) a) Let $x \in A^t$. Then $A(x) \geq t$. since A is a fuzzy ideal, $A(1) \geq A(x)$.

$$\text{So } A(1) \geq A(x) \geq t, \text{ so } 1 \in A^t.$$

b) If $(x * y) * y \in A^t$, then $(x_t * y_t) * y_t \in \tilde{A}$. From the hypothesis, we obtain $x_t * y_t \in \tilde{A}$. Hence $x * y \in A^t$. By lemma 2.1, A^t is a positive implicative ideal.

3) \Rightarrow 4) Let $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ and $t = \min(\lambda, \mu, \alpha)$. Then $(x * y) * z \in A^t$. Since A^t is a positive implicative ideal, we apply lemma 2.1 and obtain $(x * z) * (y * z) \in A^t$. So $((x * z) * (y * z))_t = (x_\lambda * z_\alpha) * (y_\mu * z_\alpha) \in \tilde{A}$

4) \Rightarrow 5) Let $x, y, z \in X$ and $t = A((x * y) * z)$, $((x * y) * z)_t = (x_t * y_t) * z_t \in \tilde{A}$. Using the hypothesis, we obtain $(x_t * z_t) * (y_t * z_t) = ((x * y) * (y * z))_t \in \tilde{A}$. So $A((x * z) * (y * z)) \geq t = A((x * y) * z)$.

5) \Rightarrow 6) a) Let $v \in Im(A)$. It is clear that $1_v \in \tilde{A}$.

b) Let $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ and $y_\mu * z_\alpha \in \tilde{A}$. Then $A((x * y) * z) \geq \min(\lambda, \mu, \alpha)$ and $A(y * z) \geq \min(\mu, \alpha)$.

From the hypothesis and the fact that A is a fuzzy ideal, we obtain

$$A(x * z) \geq \min(A((x * z) * (y * z)), A(y * z)) \geq \min(A((x * y) * z), A(y * z)) \geq \min(\min(\lambda, \mu, \alpha), \min(\mu, \alpha)) = \min(\lambda, \mu, \alpha).$$

$$\text{So } (x * z)_{\min(\lambda, \mu, \alpha)} \in \tilde{A}.$$

6) \Rightarrow 1) a) let $x \in X$, it is clear that $A(1) \geq A(x)$.

b) Let $x, y, z \in X$ and $A((x * y) * z) = \beta$, $A(y * z) = \alpha$. $((x * y) * z)_{\min(\beta, \alpha)} = (x_\beta * y_\alpha) * z_\alpha \in \tilde{A}$ and $y_\alpha * z_\alpha = (y * z)_\alpha \in \tilde{A}$. Since \tilde{A} is a positive implicative weak ideal, we have $(x * z)_{\min(\beta, \alpha)} \in \tilde{A}$.

$$\text{Hence } A(x * z) \geq \min(\beta, \alpha) = \min(A((x * y) * z), A(y * z)).$$

3. COMMUTATIVE WEAK IDEAL

Definition 3.1

A non empty subset I of X is called a commutative ideal if it satisfies

- a) $1 \in I$,
- b) $(x*y)*z \in I$ and $z \in I$ imply $x*(y*(y*x)) \in I$.

Definition 3.2

A fuzzy subset A of a BE – algebra X is a fuzzy commutative ideal if and only if :

- a) for any $x \in X$, $A(1) \geq A(x)$,
- b) for any $x, y, z \in X$, $A(x*(y*(y*x))) \geq \min(A((x*y)*z), A(z))$.

Definition 3.3

- a) for any $v \in \text{Im}(A)$, $1_v \in \tilde{A}$,
- b) for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$ such that $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$, we have $x_{\min(\lambda, \alpha)} * (y_\mu * (y_\mu * x_{\min(\lambda, \alpha)})) \in \tilde{A}$.

The following theorem give a characterization of a commutative weak ideal.

Theorem 3.1 Suppose that \tilde{A} is a weak ideal, then the following conditions are equivalent:

- 1) A is commutative.
- 2) for all $x_\lambda, y_\mu \in \tilde{X}$ such that $x_\lambda * y_\mu \in \tilde{A}$, we have $x_{\min(\lambda, \mu)} * (y_\mu * (y_\mu * x_{\min(\lambda, \mu)})) \in \tilde{A}$.
- 3) for any $t \in (0,1]$ the t - level subset $A^t = \{x \in X | A(x) \geq t\}$ is a commutative ideal when $A^t \neq \emptyset$.
- 4) \tilde{A} is commutative.

The proof is similar to theorem2.1 and is omitted.

4. IMPLICATIVE WEAK IDEAL**Definition 4.1**

A non empty subset I of X is called an implicative ideal if it satisfies: for all $x, y, z \in X$,

- a) $1 \in X$,
- b) $[x*(y*x)]*z \in I$ and $z \in I$ imply $x \in I$.

Definition 4.2

A fuzzy subset A of a BE algebra X is a fuzzy implicative ideal if and only if :

- a) for any $x \in X$, $A(1) \geq A(x)$,
- b) for any $x, y, z \in X$, $A(x) \geq \min(A(x*(y*x))*z), A(z)$.

Definition 4.3

\tilde{A} is an implicative weak ideal of \tilde{X} if and only if:

- a) for any $v \in \text{Im}(A)$, $1_v \in \tilde{A}$.

b) for any $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$, $(x_\lambda * (y_\mu * x_\lambda)) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$, imply $x_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

Theorem 4.1 Let A be a fuzzy subset of a BE algebra X , then the following conditions are equivalent:

1) A is a fuzzy implicative ideal.

2) \tilde{A} is an implicative weak ideal.

Proof. 1) \Rightarrow 2) a) Let $\lambda \in \text{Im}(A)$. Suppose that $\lambda = A(x)$. since A is a fuzzy implicative ideal,

We have $A(1) \geq A(x) = \lambda$. So $1_\lambda \in \tilde{A}$.

b) Let $(x_\lambda * (y_\mu * x_\lambda)) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$. Then $A((x * (y * x)) * z) \geq \min(\lambda, \mu, \alpha)$ and $A(z) \geq \alpha$.

Since A is a fuzzy implicative ideal, we have $A(x) \geq \min(A((x * (y * x)) * z), A(z)) \geq \min(\min(\lambda, \mu, \alpha), \alpha) = \min(\lambda, \mu, \alpha)$. So $x_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

2) \Rightarrow 1) a) Let $x \in X$ and $\lambda = A(x)$, $\lambda \in \text{Im}(A)$. since \tilde{A} is an implicative weak ideal, we have $1_\lambda \in \tilde{A}$. So $A(1) \geq \lambda = A(x)$.

b) If $x, y, z \in X$, let $A((x * (y * x)) * z) = \beta$ and $A(z) = \alpha$. Then $((x * (y * x)) * z)_{\min(\beta, \alpha)} = (x_\beta * (y_\beta * x_\beta)) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$. Since \tilde{A} is an implicative weak ideal, we have $x_{\min(\beta, \alpha)} \in \tilde{A}$. So $A(x) \geq \min(\beta, \alpha) = \min(A((x * (y * x)) * z), A(z))$.

Theorem 4.2 Suppose that \tilde{A} is a weak ideal then the following conditions are equivalent :

1) A is a fuzzy implicative ideal

2) for all $x_\lambda, y_\mu \in \tilde{X}$, $x_\lambda * (y_\mu * x_\lambda) \in \tilde{A}$ implies $x_{\min(\lambda, \mu)} \in \tilde{A}$.

3) for $t \in (0, 1]$, the t -level subset $A^t = \{x \in X \mid A(x) \geq t\}$ is an implicative ideal when $A^t \neq \emptyset$.

4) \tilde{A} is implicative.

Before proving the theorem, we recall the following result:

Lemma 4.1 An ideal I of a BE-algebra X is implicative if and only if for any $x, y, z \in X$ such that $x * (y * x) \in I$, we have $x \in I$.

Proof. 1) \Rightarrow 2) Let $x_\lambda * (y_\mu * x_\lambda) \in \tilde{A}$. Since A is fuzzy implicative, we have

$A(x) \geq \min(A((x * (y * x)) * 1), A(1)) \geq \min(\lambda, \mu)$. So $x_{\min(\lambda, \mu)} \in \tilde{A}$.

2) \Rightarrow 3) a) It is clear that $1 \in A^t$.

b) Let $x * (y * x) \in A^t$. Then $(x * (y * x))_t = x_t * (y_t * x_t) \in \tilde{A}$. Using the hypothesis, we obtain $x_t \in \tilde{A}$. So $x \in A^t$ and by lemma 4.1, A^t is implicative.

3) \Rightarrow 4) a) Let $\lambda \in \text{Im}(A)$, it is clear that $1_\lambda \in \tilde{A}$.

b) If $(x_\lambda * (y_\mu * x_\lambda)) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$, let $t = \min(\lambda, \mu, \alpha)$. Then $(x * (y * x)) * z \in A^t$ and $z \in A^t$. Because A^t is implicative, $x \in A^t$. So $x_{\min(\lambda, \mu, \alpha)} = x_t \in \tilde{A}$.

4) \Rightarrow 1) Following from theorem 4.1.

The following theorem gives some equivalent conditions for a subalgebra \tilde{A} to be an implicative weak ideal.

Theorem 4.3 If \tilde{A} is a subalgebra (namely A is a fuzzy subalgebra by theorem 1.1), the following conditions are equivalent:

1) A is a fuzzy implicative ideal.

- 2) For any $x_\lambda, y_\mu, z_\alpha, w_t \in \tilde{X}$, $\left(\left(x_\lambda * (y_\mu * x_\lambda)\right) * z_\alpha\right) * w_t = 1_{\min(\lambda, \mu, \alpha, t)}$ with z_α and $w_t \in \tilde{A}$ imply $x_{\min(\lambda, \mu, \alpha, t)} \in \tilde{A}$.
- 3) Or any $x, y, z, w \in X$, $((x * (y * x)) * z) * w = 1$ imply $A(x) \geq \min(A(z), A(w))$.
- 4) \tilde{A} is an implicative weak ideal.

Proof. 1) \Rightarrow 2) Let $\left(\left(x_\lambda * (y_\mu * x_\lambda)\right) * z_\alpha\right) * w_t = 1_{\min(\lambda, \mu, \alpha, t)}$ with z_α and $w_t \in \tilde{A}$. since A is fuzzy implicative ideal, A is also a fuzzy ideal, we have $x_{\min(\lambda, \mu, \alpha, t)} * (y_\mu * x_{\min(\lambda, \mu, \alpha, t)}) = x * (y * x)_{\min(\lambda, \mu, \alpha, t)} \in \tilde{A}$. Using Theorem 4.2, we have $x_{\min(\lambda, \mu, \alpha, t)} \in \tilde{A}$.

2) \Rightarrow 3) Let $((x * (y * x)) * z) * w = 1$ and $t = \min(A(z), A(w))$, then z_t and $w_t \in \tilde{A}$

$((x_t * (y_t * x_t)) * z_t) * w_t = 1_t$. Using the hypothesis, we obtain $x_t \in \tilde{A}$. So $A(x) \geq t = \min(A(z), A(w))$

3) \Rightarrow 4) a) Let $\lambda \in \text{Im}(A)$, because \tilde{A} is a subalgebra, we have $1_\lambda \in \tilde{A}$ (by lemma 1.1).

b) Let $(x_\lambda * (y_\mu * x_\lambda)) * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$. Since $\{(x * (y * x)) * [(x * (y * x)) * z]\} * z = 1$, we apply the hypothesis and obtain $A(x) \geq \min(A((x * (y * x)) * z), A(z)) \geq \min(\min(\lambda, \mu, \alpha), \alpha) = \min(\lambda, \mu, \alpha)$. So $x_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

4) \Rightarrow 1) Follows from Theorem 4.1.

Now we describe the relation between positive implicative weak ideal and implicative weak ideal.

Theorem 4.4 If \tilde{A} is an implicative weak ideal, then \tilde{A} is a positive implicative weak ideal.

Proof. Suppose that \tilde{A} is an implicative weak ideal of \tilde{X} and let $x_\lambda, y_\mu, z_\alpha \in \tilde{X}$ such that $(x_\lambda * y_\mu) * z_\alpha \in \tilde{A}$ and $y_\mu * z_\alpha \in \tilde{A}$. To Prove that \tilde{A} is a positive implicative, we need only to show that $(x * z)_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$. Using (9'), $\{[(x_\lambda * z_\alpha) * z_\alpha] * (y_\mu * z_\alpha)\} * [(x_\lambda * z_\alpha) * y_\mu] = 1_{\min(\lambda, \mu, \alpha)}$. By (5') $(x_\lambda * z_\alpha) * y_\mu = (x_\lambda * y_\mu) * z_\alpha$. since \tilde{A} is a weak ideal, we obtain $(x_{\min(\lambda, \mu)} * z_\alpha) * z_\alpha \in \tilde{A}$. from (5') we obtain $(x_{\min(\lambda, \mu)} * z_\alpha) * [x_{\min(\lambda, \mu)} * (x_{\min(\lambda, \mu)} * z_\alpha)] = \{x_{\min(\lambda, \mu)} * [x_{\min(\lambda, \mu)} * (x_{\min(\lambda, \mu)} * z_\alpha)]\} * z_\alpha = [x_{\min(\lambda, \mu)} * z_\alpha] * z_\alpha$ from (7') It follows that $\{(x_{\min(\lambda, \mu)} * z_\alpha) * [x_{\min(\lambda, \mu)} * (x_{\min(\lambda, \mu)} * z_\alpha)]\} * 1_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$. Since \tilde{A} is an implicative weak ideal, we obtain $x_{\min(\lambda, \mu)} * z_\alpha = (x * z)_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$ which completes the proof.

Corollary If A is a fuzzy implicative ideal, then A is a positive implicative ideal.

For further relations between a positive implicative weak ideal and an implicative weak ideal, we have the following:

Theorem 4.5 Let \tilde{A} be a positive implicative weak ideal, then \tilde{A} is an implicative if and only if for any $x_\lambda, y_\mu \in \tilde{X}$ such that $y_\mu * (y_\mu * x_\lambda) \in \tilde{A}$ we have $x_\lambda * (x_\lambda * y_\mu) \in \tilde{A}$.

Proof. Suppose that \tilde{A} is an implicative weak ideal of \tilde{X} and $y_\mu * (y_\mu * x_\lambda) \in \tilde{A}$. We want to show that $x_\lambda * (x_\lambda * y_\mu) \in \tilde{A}$. By (6') $[x_\lambda * (x_\lambda * y_\mu)] * x_\lambda = 1_{\min(\lambda, \mu)}$. By (4'), $(y_\mu * x_\lambda) * \{y_\mu * [x_\lambda * (x_\lambda * y_\mu)]\} = 1_{\min(\lambda, \mu)}$. By (4') $\{[x_\lambda * (x_\lambda * y_\mu)] * \{y_\mu * [x_\lambda * (x_\lambda * y_\mu)]\}\} * \{[x_\lambda * (x_\lambda * y_\mu)] * (y_\mu * x_\lambda)\} = 1_{\min(\lambda, \mu)}$. By (5'), $[x_\lambda * (x_\lambda * y_\mu)] * (y_\mu * x_\lambda) = [x_\lambda * (y_\mu * x_\lambda)] * (x_\lambda * y_\mu)$. by BE (2') $\{[x_\lambda * (y_\mu * x_\lambda)] * (x_\lambda * y_\mu)\} * \{y_\mu * [x_\lambda * (x_\lambda * y_\mu)]\} = 1_{\min(\lambda, \mu)}$. From the fact that \tilde{A} is a weak ideal we obtain

$\{[x_\lambda * (x_\lambda * y_\mu)] * \{y_\mu * [x_\lambda * (x_\lambda * y_\mu)]\}\} * 1_{\min(\lambda, \mu)} \in \tilde{A}$. Since \tilde{A} is an implicative weak ideal, we have $x_\lambda * (x_\lambda * y_\mu) \in \tilde{A}$.

Conversely, if $[x_\lambda * (y_\mu * x_\lambda)] * z_\alpha \in \tilde{A}$ and $z_\alpha \in \tilde{A}$. Since \tilde{A} is a weak ideal, we obtain $x_{\min(\lambda, \alpha)} * (y_\mu * x_{\min(\lambda, \alpha)}) \in \tilde{A}$. Let $\beta = \min(\lambda, \alpha)$ and $x_\beta * (y_\mu * x_\beta) \in \tilde{A}$. By BE (2') $\{[y_\mu * (y_\mu * x_\beta)] * (y_\mu * x_\beta)\} * [x_\beta * (y_\mu * x_\beta)] = 1_{\min(\beta, \mu)}$. Using the fact that \tilde{A} is a weak ideal, we obtain $[y_\mu * (y_\mu * x_\beta)] * (y_\mu * x_\beta) \in \tilde{A}$. Since \tilde{A} is a positive implicative, we have $y_\mu * (y_\mu * x_\beta) \in \tilde{A}$. By applying the hypothesis, we obtain $x_\beta * (x_\beta * y_\mu) \in \tilde{A}$. **from BE (2') $\{(x_\beta * y_\mu) * [x_\beta * (y_\mu * x_\beta)]\} * [(y_\mu * x_\beta) * y_\mu] = 1_{\min(\beta, \mu)}$. Also $(y_\mu * x_\beta) * y_\mu = 1_{\min(\beta, \mu)}$. So $(x_\beta * y_\mu) * [x_\beta * (y_\mu * x_\beta)] = 1_{\min(\beta, \mu)}$. Using the fact that \tilde{A} is a weak ideal, we obtain $(x_\beta * y_\mu) \in \tilde{A}$. Because $x_\beta * (x_\beta * y_\mu) \in \tilde{A}$ (see **). We have $x_{\min(\beta, \mu)} = x_{\min(\lambda, \mu, \alpha)} \in \tilde{A}$.

Theorem 4.6 A weak ideal \tilde{A} is implicative if and only if it is both commutative and implicative.

Proof. Suppose that \tilde{A} is an implicative weak ideal, from Theorem 4.4, we know \tilde{A} is a positive implicative weak ideal. To prove that \tilde{A} is a commutative weak ideal, we need only to show that \tilde{A} satisfies the condition 2 of Theorem 3.1. Let $x_\lambda, y_\mu \in \tilde{X}$ such that $x_\lambda * y_\mu \in \tilde{A}$. By (6') $\{x_\lambda * [y_\mu * (y_\mu * x_\lambda)]\} * x_\lambda = 1_{\min(\lambda, \mu)}$. By (3') $(y_\mu * x_\lambda) * \{y_\mu * [x_\lambda * [y_\mu * (y_\mu * x_\lambda)]]\} = 1_{\min(\lambda, \mu)}$. Put $t_\beta = x_\lambda * [y_\mu * (y_\mu * x_\lambda)]$. We have $(y_\mu * x_\lambda) * (y_\mu * t_\beta) = 1_{\min(\lambda, \beta, \mu)}$. Applying (4') we obtain $[t_\beta * (y_\mu * t_\beta)] * [t_\beta * (y_\mu * x_\lambda)] = 1_{\min(\lambda, \beta, \mu)}$. But $t_\beta * (y_\mu * x_\lambda) = \{x_\lambda * [y_\mu * (y_\mu * x_\lambda)]\} * (y_\mu * x_\lambda) = [x_\lambda * (y_\mu * x_\lambda)] * [y_\mu * (y_\mu * x_\lambda)]$ by (5'). From (9') we also have $[[x_\lambda * (y_\mu * x_\lambda)] * [y_\mu * (y_\mu * x_\lambda)]] * (x_\lambda * y_\mu) = 1_{\min(\lambda, \mu)}$. Since $x_\lambda * y_\mu \in \tilde{A}$, we obtain $t_\beta * (y_\mu * x_\lambda) \in \tilde{A}$. so $t_\beta * (y_\mu * t_\beta) \in \tilde{A}$. \tilde{A} is an implicative weak ideal. Hence we applying theorem 4.3 and obtain $t_\beta = t_{\min(\beta, \mu)} \in \tilde{A}$. So $t_\beta = x_\lambda * (y_\mu * (y_\mu * x_\lambda)) = x_{\min(\lambda, \mu)} * [y_\mu * (y_\mu * x_{\min(\lambda, \mu)})] \in \tilde{A}$.

Conversely, suppose that \tilde{A} is both commutative and positive implicative, we must verify that \tilde{A} is implicative. Using Theorem 4.3, we need only to show that $x_\lambda * (y_\mu * x_\lambda) \in \tilde{A}$ implies $x_{\min(\lambda, \mu)} \in \tilde{A}$. By BE (2') $[y_\mu * (y_\mu * x_\lambda)] * x_\lambda = 1_{\min(\lambda, \mu)}$. By (4') $\{[y_\mu * (y_\mu * x_\lambda)] * (y_\mu * x_\lambda)\} * [x_\lambda * (y_\mu * x_\lambda)] = 1_{\min(\lambda, \mu)}$. Since \tilde{A} is a weak ideal and $x_\lambda * (y_\mu * x_\lambda) \in \tilde{A}$, we obtain $[y_\mu * (y_\mu * x_\lambda)] * (y_\mu * x_\lambda) \in \tilde{A}$. Using Theorem 2.1, we obtain $y_\mu * (y_\mu * x_\lambda) \in \tilde{A}$. On the other hand using BE (2') we have $\{(x_\lambda * y_\mu) * [x_\lambda * (y_\mu * x_\lambda)]\} * [(y_\mu * x_\lambda) * y_\mu] = 1_{\min(\lambda, \mu)}$. Since $(y_\mu * x_\lambda) * y_\mu = 1_{\min(\lambda, \mu)}$, we

have $(x_\lambda * y_\mu) * [x_\lambda * (y_\mu * x_\lambda)] = 1_{\min(\lambda, \mu)}$. From $x_\lambda * (y_\mu * x_\lambda) \in \tilde{A}$, we obtain $x_\lambda * y_\mu \in \tilde{A}$. Since \tilde{A} is a commutative, we apply the theorem 3.1 and obtain $x_\lambda * [y_\mu * (y_\mu * x_\lambda)] \in \tilde{A}$. Since $y_\mu * (y_\mu * x_\lambda) \in \tilde{A}$, we obtain $x_{\min(\lambda, \mu)} \in \tilde{A}$.

CONCLUSION

This paper shows how the concept of fuzzy ideals and weak ideals can be used with BE algebras and Solving theorems. The proposed approach can be extended to Weak ideal, Positive implicative weak ideal, Commutative weak ideal and Implicative weak ideal.

REFERENCES

- [1] Y. Imai and K. Is'eki, "On axiom systems of propositional calculi. XIV," Proceedings of the Japan Academy, vol.42, pp.19–22, 1966.
- [2] K. Is'eki, "On BCI-algebras," Kobe Journal of Mathematics, vol. 8, no.1, pp.125–130, 1980.
- [3] Q.P.Hu and X.Li, "On proper BCH-algebras," Mathematica Japonica, vol.30, no.4, pp.659–661, 1985.
- [4] C.LELE and Congxin Wu, *Transfer Theorems for Fuzzy Semigroups*, J. of Harbin Institute of Technology. (English Edition)(2000)19-23.
- [5] J.Neggers and H.S.Kim, "On d -algebras," Mathematica Slovaca, vol.49, no.1, pp.19–26, 1999.
- [6] J.Neggers and H.S.Kim, "On d -algebras," Matematichki Vesnik, vol. 54, no. 1-2, pp. 21–29, 2002.
- [7] Congxin Wu and Zhenkai Qi, *Transfer theorems for Fuzzy Groups*, Fuzzy mathematics 2(1982), 51-55.
- [8] O.G.Xi, *Fuzzy BCK-algebras*, Math. Japon 36(1991), 935-942.
- [9] L.A.Zadeh, *Fuzzy Sets*, Infom. And Control 8(1965), 338-353.
- [10] Y. B. Jun, E. H. Roh, and H. S. Kim, "On BH-algebras," Scientiae Mathematicae, vol.1, no.3, pp.347–354, 1998
- [11] K. H. Kim and Y. H. Yon, "Dual BCK-algebra and MV-algebra," Scientiae Mathematicae Japonicae, vol.66, no.2, pp.247–253, 2007.
- [12] A. Walendziak, "On commutative BE-algebras," Scientiae Mathematicae Japonicae, vol.69, no.2, pp.281–284, 2009.